
Prova scritta #1 del 20.1.2020 – test   

soluzioni 

 

A. 

 

1. ( 9 crediti )        e2  1. ( 12 crediti )     x < 0 

2.   3/22
2

0

2 ) x2 - 8 (  
3

 -   ;dx      x2 - 8  x  2    ;    
3

 2  16



 

3.   c1 cos2x + c2 sen2x + ( 2 cosx + senx ) ex / 10 

4.   – 64 

5.  C.E.        4  - )  , 0 [             Imm        )  , 3/2 [    ) 2-  ,  (   

6.      - L  ) x( f  :A    x   , 0      ) ii (   ;    L  ) x ( f ,A   x    (i)     

 

B. 

 

1. ( 9 crediti )        0  1. ( 12 crediti )     x > 0 

2.   3/22
1/2

0

2 ) x8 - 2 (  
2

 -   ;dx      x8 - 2  x  2    ;     2 
  

3.   c1 cos2x + c2 sen2x + ( 2 senx - cosx ) ex / 10 

4.   – 64 

5.  C.E.        1  - )  , 0 [             Imm        )  , 3 [    ) 4-  ,  (   

6.       l  ) x( f  :A    x   , 0      ) ii (   ;    l  ) x ( f ,A   x    (i)     

 

 

 

 

 

 



 

 

C. 

 

1. ( 9 crediti )        e  1. ( 12 crediti )     x > 0 

2.   3/22
3

0

2 ) x3 - 9 (  
9

2
 -   ;dx      x3 - 9  x  2    ;     6 
  

3.   c1 cosx + c2 senx + ( 2 sen2x - cosx ) ex / 10 

4.   16 

5.  C.E.        9  - )  , 0 [             Imm        )  , 1/3 [    ) 1-  ,  (   

6.     M  ) x( f  :A    x     ) ii (   ;    M  ) x ( f ,A   x    (i)    

 

D. 

 

1. ( 9 crediti )        0  1. ( 12 crediti )     x > 0 

2.   3/22
3/1

0

2 ) x9 - 3 (  
8

 -   ;dx      x9 - 3  x  2    ;    
3

 3



 

3.   c1 cosx + c2 senx - ( 2 cos2x + sen2x ) ex / 10 

4.   16 

5.  C.E.        9/4  - )  , 0 [             Imm        )  , 1/3 [    ) 1-  ,  (   

6.     m  ) x( f  :A    x     ) ii (   ;    m  ) x ( f ,A   x    (i)    

 

 

 


